JCF &% — ZMERERR
S8 ISR © STIRABITA S

Y5 Rh

@ LEIREE  SHEMEM -
@ [RAREEES TR EARRFREEEER -

RER WIS
HH &I (mm) | @20 | @25 | @32 | @40 [ @50 | @63 o jEam
1EBD R wEEh e (W EE ) g
ERTae BT HIAE (mm) 1772 (mm)
ERAEAEE  kef/em?(kPa) | 1.5~7 (150~700) \ 1~7(100~700) @20, @25, @32| 10,20, 30,40, 50, 60, 75, 85, 100
RAEREN kgf / cm? (kPa) 9(900) @40, @50, @63| 10, 20, 30, 40, 50, 60, 75, 85, 100, 125, 150
ERRERE “c 0 ~60  FRETRATNS  RENEENBMTAE -
‘ | B 50 ~ 500 50~350 ,
ﬁm@ﬁﬁ /s | EBEHEY 100 ~ 500 - O MHAHE
T BT YRS HTAE (mm) 1572 (mm)
BEOR M5x08 | PT18 | PTl/4 ©20,25,@32| 10,20, 30, 40, 50, 65, 75, 90
RRESEE SRS (STRERS ARG - "S") @40, 950, @63| 10, 20, 30, 40, 50, 65, 75, 90, 115, 140
TRt JCF 20x30-A-S9D 2
1 2 3 4 5 6 1
1 i 2 e HI1E (mm) 4 [ wg [mmEEEEm | 6 [ #% EUREsSsEE
20 220 A 25 G RHIEURESS
25 @25 B 40 9B CS-9B
32 232 % JCFD AILIEE 9D CS-9D
40 @40 _ REE
% 250 ’ ‘n;t;ff $§4§§E — ——
63 263
s R g W
3 [ @ mm | SETRE (mm) Cs-9B CS-9D
@20~ @32 10~100
240 ~ 363 10~ 150 — =
EERITEHETE BEEL o |ftst RiEnaE
PRETRE 1 W 148
2 W2 @

]
[ [T Tl

3

o EHEFERN -B

i

1
il

]

[ Ti]
H,J
il




JCF &% — ZMERERRE

SMREIRR T | JCF R2EE

BER
© JCF @20~ @63
v 4-E
4-W
4 i)
T 11—
4P
(RALARE) N
4
Vg
(N \\"‘ — . T = = <
N2 IJI\\ 7l\t:/7//1_‘:|§ = @ = ] A i
EC?L\\‘// A
Sy e—
////' :\\\ @‘} ]
A a
i) S
N7 1 Ll
& P 20
MB
‘ T ‘ |3 K F+1772
N G | RS
GHEARTRE )
4-MF 4-MG
— ——
& b @’/ HL @ |
@ Gl dg¢ - :
ke Le !
o 97 ool Ny !
N2 N1 N2 X
(FBURTRE )

FE | A B c D | DF E E G H I J K M N | MB 2-0
20 84 | 80 | 64 | 12 | 20 | M8x1.25P | 295 | 64 | 42 | 12 4 19 | 34 | — 6 | M5x0.8P
25 97 | 92 | 73 | 16 | 24 | M8x125P (312 | 68 | 46 | 14 | 4 19 | 40 | — 7 | M5x0.8P
32 121 | 118 | 90 | 20 | 31 | M10x15P 34 | 76 | 56 | 17 4 21 | 44 | 51 | 85 |PT1/8
40 127 | 122 | 96 | 20 | 31 | M1I0Ox15P |365 | 79 | 64 | 17 4 21 | 52 | 59 | 85 | PT1/8
50 157 | 152 | 121 | 25 | 36 | M12x1.75P | 385 | 91 | 80 | 17 4 22 | 62 | 74 | 85 | PT1/4
63 166 | 160 | 130 | 25 | 36 | M12x1.75P | 425 | 96 | 88 | 17 4 22 | 75 | 87 | 85 | PT1/4

i K MF MG N1 | N2 | P [ QA | QB | R S T U Y, w X Y z
20 | M4x07P |M5x08P | 30 | 21 | M5 | 21 | 18 | 37 | 29 | 24 | 106 | 24 | M4x07P | 48 | — | 120
25 | M5x0.8P |M6x10P | 34 | 23 | M6 | 24 | 20 | 42 | 35 | 28 | 120 | 28 | M5x0.8P | 50 | — | 134
32 |M6x10P |[M8x125P| 40 | 32 | M6 | 30 | 22 | 47 | 405| 34 | 140 | 34 | M6x1.0P | 55 |13.6 | 156
40 | M8x1.25P|M8x1.25P | 40 | 32 | M8 | 32 | 32 | 55 | 49 | 40 | 150 | 40 | M8x 1.25P | 58 |13.6 | 170
50 | M8x1.25P|M8x125P | 44 | 44 | M8 | 44 | 44 | 68 | 64 | 48 | 184 | 48 | M8x1.25P| 70 | 19 | 204
63 | M8x1.25P|M8x125P | 46 | 47 | M8 | 58 | 58 | 80 | 78 | 60 | 190 | 60 | M8x1.25P | 75 | 20.5 | 212

XEE  REIRE (F) AMEEZRST -




JCF &% — ZMERERRE
SMREZR <+ | JCFD T2 5

fTiZRIA
© JCFD @20 ~ 263

- 4w
7 )
/::?\ T N
Gyl R 2 —
N GRALARE) N Ne
G@\TIELS_ —T i ‘
LY//,:\\E q
= 4\/4\——/\/\]2tn—§ alo|z & S é(
ol e
S N
ARy I g|
T - Q
NG 1 Ll
N ‘ 2-0
MB
T \J‘ K ‘ F+4772 Ns+ 1772 Na
N G | iR
GHBTIRE)
4-MF 4-MG
mal R ;|
7 %
4 o | o = TLf
A A o < ¢l 5
N\ W 5|9 ==
o 0 © | O o .
‘ N2 N1 N2 ‘ ‘ X
(;BHRiRE)
¥ ST=30mmLL T, @1T7F225 ; #B:BST=30mmLl £, AT AITFE40mm o
F® | A B € D | DF E F G H I J K M | N | MB 2-0
20 84 | 80 | 64 | 12 | 20 | M8x1.25P | 295 | 64 | 42 | 12 | 4 | 19 | 34 | — 6 | M5x0.8P
25 97 | 92 | 73 | 16 | 24 | M8x125P |312| 68 | 46 | 14 | 4 | 19 | 40 | — 7 | M5x0.8P
32 121 | 118 | 90 | 20 | 31 | M10x15P | 34 | 76 | 56 | 17 | 4 | 21 | 44 | 51 | 85 |PT1/8
40 127 | 122 | 96 | 20 | 31 | M1Ox15P |365| 79 | 64 | 17 | 4 | 21 | 52 | 59 | 85 |PT1/8
50 157 | 152 | 121 | 25 | 36 | M12x1.75P | 385 | 91 | 80 | 17 | 4 | 22 | 62 | 74 | 85 |PT1/4
63 166 | 160 | 130 | 25 | 36 | M12x175P |425 | 96 | 88 | 17 | 4 | 22 | 75 | 87 | 85 |PT1/4
il KEY MF MG N1 |N2|[N3| N4 |Ns|[Ne| P |[QA|QB| R | S | T| U ]|V w XY |z
20 |M4x07P |M5x0.8P |30 |21 |56 (6351516 |M5|21 |18 |37 |29 | 24 |106| 24 | M4x0.7P |48 | — [120
25 |M5x0.8P |M6x1.0P |34 |23 (58|67 | 2 |20 |M6|24|20|42 |35 |28|120|28 | M5x0.8P |50 | — [134
32 |M6x1.0P |M8x1.25P| 40 | 32 | 58 [68.5(3.3| 25 |M6 | 30 | 22 | 47 |40.5| 34 |140| 34 | M6 x 1.OP | 55 |13.6|156
40 |M8x1.25P|M8x1.25P| 40 |32 |60 | 74 [3.3|32 |M8| 32|32 |55 |49 | 40 |150| 40 | M8 x 1.25P | 58 |13.6|170
50 |M8x1.25P|M8x1.25P| 44 |44 |62 |81 | 4 |36 |M8| 44 | 44 | 68 | 64 | 48 |184| 48 | M8 x 1.25P | 70 | 19 |204
63 |M8x1.25P|M8x1.25P| 46 |47 |62 |81 | 4 |36 |M8 |58 |58 |80 |78 | 60 |190| 60 | M8 x 1.25P | 75 |20.5 | 212

KEX C REIRE (F) AMBEAZRST -




	3.0-B_部分243
	3.0-B_部分244
	3.0-B_部分245

